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.DEXSDWHQ�.RWD�3URYLQVL�6XPDWHUD�%DUDW��2EMHN�GDUL�SHQHOLWLDQ�LQL�DGDODK�
.DEXSDWHQ�.RWD� GL� 3URYLQVL� 6XPDWHUD�%DUDW�� 3HQHOLWLDQ� LQL�PHQJJXQDNDQ�
PHWRGH� 3DQHO� /HDVW� 6TXDUH� XQWXN� PHOLKDW� SHQJDUXK� YDULDEHO� EHEDV�
WHUKDGDS� YDULEHO� WHULNDW� \DQJ� GLOLKDW� GDUL� GDWD� .DEXSDWHQ�.RWD� 3URYLQVL�
6XPDWHUD� %DUDW� GDUL� WDKXQ� ����� VDPSDL� WDKXQ� ����� \DQJ� GLNXPSXONDQ�
PHODOXL� GRNXPHQWDVL� GDUL� LQVWDQVL� SHPHULQWDK� \DQJ� WHUNDLW�� 3HQHOLWLDQ� LQL�
PHQJJXQDNDQ� SHQGHNDWDQ�5DQGRP�(IIHFW�0RGHO� �5(0�� +DVLO� SHQHOLWLDQ�
LQL� PHQXQMXNNDQ� EDKZD� ���� -XPODK� REMHN� ZLVDWD� GDQ� MXPODK� KRWHO�
EHUSHQJDUXK� SRVLWLI� GDQ� VLJQLILNDQ� GLVDDW� EHUVDPD�VDPD� WHUKDGDS
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